EARAROBEEIERT — 2 N— IBISH —F 20174F9A28H () 13mEHMHS5H

mT‘y N—hT4 (PRFBPE) —M YI7R2K EEDE T
[A&4] 1 7% 2,500,000 @ ~ 23 :600,000 . 33 :300,000 .~ 4 3#:200,000d . 5 3% :150,000 M
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
= ETE— :32. 74~ . — BAEE (F)
1B 3 TS 4 2 20 1(3_2)6 7-7-4-4 | 40.0 3 (4_597) il
LNMLVTSY BYqA T rxyY i=Yie ]
= S 2 | He# 1:33. 2-2-2-1 | 40. - 2 442 | EfTEERE (EE)
2 Q| *M1I7Zy¥a & 5.0 @ 313/20) 08 -8) WZ?&&
i LTSAN—K B:TIIT—ILTILYT TITDZTT7—L4
RNy st o2 | JIRE— 1:33.1 3-3-3-1 |40.7| — 1 463 | JeiUEERI (EE)
sl | 7EYZA b 56.0 (3/4) (-3) | B
L:T7H 79X TR BT RKLRTILY Liillbae]
- ARBE : 9-10- _ HED ()
A 7rFxaT-2 o2 L (12.313/.25) 9-9-10-8 | 40.2 10 ff) e
R:FHh¥Y<71xX8 B:X—-TLUR KB A
S s AR :34. -1-1= . — RARK (BE)
51gl1g| = K1 >X7 b i 2 on 1(354)3 1-1-1-3 | 42.2 7 ;1_(1)5) oo
R:hE—X2—F— B:bFAXMHyT i e
- o [© KIIEE :34. ~5-7~ . — FEHE (BA
6l7|7|77/31>F i ) (7 ) R R ° ?_2; R’
L:T7 RIS Y L—> BY—ZANNIFT454 b '
S =, — B 2 | EiEiEgE— 1:34.8 6-6-5-5 |42.3| — 9 430 | BER (Ff)
71718 LY—F7FIb—F 54.0 (2 1/2) (+7) E%%Zﬁ
L:7ROFLTE L B:arduv N Eielllk=yribae]
S 5 # 2 | Af—K 1:34.9 10-10-9-9 | 41.5| — 8 407 | Wi (Fh)
8 2 vt/ TF 55.0 (1/2) (+2) EHES
¥+ 77 bhyw—L B:T77220-U4 A BIR
- . ENEE : -8-8- — RFRF (EH)
ol1l1|7€E5F4> i 2 i 1.(376).0 8-8-8-7 | 43.0 4 :1;0) BRaT
LAR=32TR—L B:Za—-Xa—H-) TR BR
S R\ — /S — 4 2 | TRE 1:39.2 4-4-6-10 | 46.7 | — 6 486 | /I (FEHE)
1016|5| 7E > FA=/A 5.0 (514) o) | KHAT
LIZART—INF— BRI P N—IL I #2
® 1—F—@EBIERL
1T=7r= 10,9,6,5,7,8,3,1,4,2
20—F— 10,9,6,5,7,8,3,1,4,2
== 10,9,6,3,8,5,7,1,2,4
43—+ — (6,9),10,3,8,7,1,4,2,5
[ N5
B 3 650 714K 3-9 260M e E 3-8 1,1108 JEE 3-6-9 220M
B B 3 130H4 3-6 150H B = 3-9 930M EE 3-9-6 3,740
9 120 6-9 140H B H 3-9 2,080M
6 1009

ABICOVWTRDTEEERROODE. TR LIV,




